Unit 4 Vector Additions

(II)

1.) If a car traveling 60 m / s at 0 degrees collided with another car traveling 82 m / s at 90 degrees, what is the resultant?

2.) If a person was running 3.5 m/s at 70 degrees ran into another person running 5.7 m/s at 180 degrees, what is the resultant?

3.) If an air plane traveling 350 m/s at 45 degrees collided with another traveling 395 m/s at 150 degrees, what is the resultant?

4.) If a car is traveling 36 m/s at 75 degrees, ran into another car traveling 40 m/s at 125 degrees, what is the resultant?

5.) If one person was pulling on a rope with a  force of 15 N at 90 degrees and another person was pulling on the rope with a force of 20 N at 180 degrees, what is the resultant?

6.) If a person was running 10 m/s at 32 degrees and the wind was traveling 4 m/s at 55 degrees, what would the resultant be?

7.) If a car was traveling 85 m/s at 92 degrees and the wind was traveling 65 m/s at 160 degrees, what is the resultant?

8.) If the tension on the string that was tied to a kite applied a force of 125 N at 150 degrees and the wind applied a force of 100 N at 40 degrees, what is the resultant?

